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CBSE | DEPARTMENT OF SKILL EDUCATION 

SECURITY (SUBJECT CODE - 403) 
Blue-print for Sample Question Paper for Class IX (Session 2024-2025) 

Max. Time: 2 Hours                  Max. Marks: 50 

PART A - EMPLOYABILITY SKILLS (10 MARKS): 

UNIT 
NO. 

NAME OF THE UNIT 

OBJECTIVE TYPE 
QUESTIONS 

SHORT ANSWER 
TYPE QUESTIONS TOTAL 

QUESTIONS 
1 MARK EACH 2 MARKS EACH 

1 Communication Skills - I 1 1 2 

2 Self-Management Skills - I 2 1 3 

3 ICT Skills – I 1 1 2 

4 Entrepreneurial Skills - I 1 1 2 

5 Green Skills - I 1 1 2 

TOTAL QUESTIONS 6 5 11 

NO. OF QUESTIONS TO BE ANSWERED Any 4 Any 3 07 

TOTAL MARKS 1 x 4 = 4 2 x 3 = 6 10 MARKS 

PART B - SUBJECT SPECIFIC SKILLS (40 MARKS): 

UNIT 
NO. 

NAME OF THE UNIT 

OBJECTIVE 
TYPE 

QUESTIONS 

SHORT 
ANSWER TYPE 

QUESTIONS 

SHORT 
ANSWER TYPE 

QUESTIONS 

DESCRIPTIVE/ 
LONG ANS. 

TYPE 
QUESTIONS 

TOTAL 
QUESTI

ONS 
1 MARK 

EACH 
2 MARKS 

EACH 
3 MARKS 

EACH 
4 MARKS 

EACH 

1 
Communication at 

Workplace 
3 1 1 1 6 

2 

Disaster 

Management and 

Emergency 

Response (Basic) 

4 1 1 1 7 

3 

Development and 

Maintenance of 

Relationship with 

Stakeholders 

3 1 1 - 5 

4 
Occupational Health 
and Safety 
Procedures 

3 1 1 - 5 
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5 
Observing and 
Monitoring People 

4 1 - - 5 

6 
First Aid at 
Workplace (Basic) 

3 - 1 - 4 

7 
Work Integrated 
Learning – Security 
Services L-1 

4 1 - 1 6 

TOTAL QUESTIONS 24 6 5 3 38 

NO. OF QUESTIONS  
TO BE ANSWERED 

Any 20 Any 5 Any 4 Any 2 31 

TOTAL MARKS 1 x 20 = 20 2 x 5 = 10 3 x 4 = 12 4 x 2 = 8 
40 

MARKS 
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CBSE | DEPARTMENT OF SKILL EDUCATION 

    SECURITY (SUBJECT CODE - 403) 

Sample Question Paper for Class IX (Session 2024-2025) 

Max. Time: 2 Hours                 Max. Marks: 50 

General Instructions: 

1. Please read the instructions carefully. 

2. This Question Paper consists of 19 questions in two sections: Section A & Section B.  

3. Section A has Objective type questions whereas Section B contains Subjective type questions. 

4. Out of the given (5 + 14 =) 19 questions, a candidate has to answer (5 + 11 =) 16 questions in 

the allotted (maximum) time of 2 hours. 

5. All questions of a particular section must be attempted in the correct order. 

6. SECTION A - OBJECTIVE TYPE QUESTIONS (20 MARKS): 

i. This section has 05 questions. 

ii. Marks allotted are mentioned against each question/part. 

iii. There is no negative marking. 

iv. Do as per the instructions given. 

7. SECTION B – SUBJECTIVE TYPE QUESTIONS (30 MARKS): 

i. This section has 14 questions. 

ii. A candidate has to do 11 questions. 

iii. Do as per the instructions given. 

iv. Marks allotted are mentioned against each question/part. 
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SECTION A: OBJECTIVE TYPE QUESTIONS 

Q. 1  All compulsory (1 x 4 = 4 marks) 
i.  One of the principles of effective communication is: 

(A) Brevity 
(B) Space 
(C) Neatness 
(D) Vagueness 

1 

ii.  Completeness of the message implies that 
(A) No crucial information is missing from the message  
(B) It gives additional information wherever required. 
(C) It leaves no questions in the mind of the receiver.  
(D) All of the above 

1 

iii.  Concise communication is generally  
(A) Costly 
(B) Cost saving 
(C) Not appealing to the receiver 
(D) Not effective 

1 

iv.  What does tsunami literally means 
(A) Huge waves 
(B) Harbour waves 
(C) Tide waves 
(D) Serial waves 

1 

 

Q. 2  Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)  

i.  How do earthquakes occur 
(A) Due to vertical explosion of magma in the earth 
(B) Due to seasonal changes 
(C) Due to gravitational pull of the moon 
(D) Due to sudden movement of the earth plates 

1 

ii.  Securing the scene, preserving life, and treating the wounded in the event of a 
disaster is the responsibility of  

(A) Healthcare Professionals 
(B) Paramedics 
(C) Social Workers 
(D) First Responder 

1 

iii.  The place where an earthquake originates is known as 
(A) Focus 
(B) Epicenter 
(C) Fault line 
(D) Line of fault 

1 

iv.  Organisations which have certain fixed set of rules for structures and procedures are 
known as -  

(A) Informal Oraganisation 
(B) Not for Profit Oraganisation 
(C) Formal Oraganisation 
(D) None of the above 

1 

v.  Stakeholders can be categorised as 
(A) Key stakeholders 

1 



Page 5 of 7 

(B) Primary stakeholders 
(C) Active stakeholders 
(D) All of the above 

 

Q. 3  Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)  

i.  When the superiors provide direction to their subordinate, this type of 
communication is known as 
(A) Upward 
(B) Downword 
(C) Lateral 
(D) Horizontal 

1 

ii.  Correct full of OHS is 
(A) Occupational Health and Safety  
(B) Occupational Health and Service 
(C) Occupational Hospital and Safety 
(D) Occupational Hospital and Service 

1 

iii.  How many Steps Involved in Risk Management 
(A) 1  
(B) 2 
(C) 3 
(D) 4                                    

1 

iv.   Factors that influence the degree of risk include 
(A) How much a person is exposed toa hazardous thing or condition 
(B) How the person is exposed 
(C) How severe are the effects under the conditions 
(D) All of the above 

1 

v.   Example of Physical control are 
(A) Security guards 
(B) CCTV 
(C) Both 
(D) None 

 

1 

vi.   Injury may be caused due to the__ 1 

 

Q. 4  Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)  
i.   Correct full form of CCTV  is 

(A) Closed circuit TV 
(B) Closed circuit television  
(C) Circuit Camera 
(D) Camera control TV 

1 

ii.   Safeguarding personnel must always 
(A) Detect 
(B) Observe 
(C) Study Pattern 
(D) All of the above 

1 

iii.  Which of the following is not a modus operandi of the criminals 1 
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(A)  Robbery  
(B) Vandalism 
(C) Arson 
(D)  Borrow 

iv.   Important rules for first aid are  
(A)  Check 
(B) Call 
(C) Care 
(D) All of the above 

1 

v.   Hazards caused by bacteria and viruses are known as 
(A) Biological 
(B) Chemical 
(C) Radiation 
(D) Physical hazards  

1 

 

Q. 5  Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)  
i.  Sitting in a wrong posture is an example of 

(A) Biological 
(B) Chemical 
(C) Phychological  
(D) Ergonomic hazard 

1 

ii.  Which is not type of security 
(A) Disha security 
(B)  External security 
(C) Private security 
(D) Internal security 

1 

iii.  Which of the following is an example of a private  security agency ? 
(A) Police department  
(B) Army regiment  
(C) G&S security  
(D) Central reserve police force  

1 

iv.  Army Day is celebrated on 
(A) 26 january 
(B) 13 january  
(C) 14 january 
(D) 15 january  

1 

v.  NSG personnel are called  
(A) Cobra 
(B) Para sf 
(C) Marcos 
(D) Black cats  

1 
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SECTION B: SUBJECTIVE TYPE QUESTIONS 

Answer any 5 out of the given 6 questions on  (2 x 5 = 10 marks) 

Answer each question in 20 – 30 words. 

Q. 6  What is communication cycle? 2 
Q. 7  What is disaster? 2 
Q. 8  What is stakeholder management? 2 
Q. 9  What is hazard control? 2 
Q. 10  What is surveillance ? 2 
Q. 11  Differentiate between public security and national security? 2 

 

Answer any 4 out of the given 5 questions in 20 – 30 words each (3 x 4 = 12 marks) 

Q. 12  Why is feedback important in communication? 3 
Q. 13  What is disaster? 3 
Q. 14  What is a conflict? 3 
Q. 15  What is risk management? 3 
Q. 16  What are the basic principles of first aid? 3 

 

Answer any 2 out of the given 3 questions in 50– 80 words each (4 x 2 = 8 marks) 

Q. 17  Differentiate between various communication equipment 4 
Q. 18  Differentiate between natural hazards and manmade hazards. 4 
Q. 19  Differentiate between BSF and CISF. 4 

 


